Geometry Dilations Name:

Today we will be working with a new type of transformation. List the three previous transformations
we have studied. For each transformation, explain what it does in “everyday language”.
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These three transformations are known as rigid transformations. What similarity do you think these
transformations have that makes them all rigid transformations?
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Now we are going to study dilations. Dilations change the size of the shape. They either expand the
shape by a scale factor or they shrink the shape by a scale factor. What does scale factor mean?
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Do the following problem an ite down the process on the right:

Dilate A ADI, A(-1,-1), D(0,2), I(3,1) A’ (-1, “2) How do you do a dilation from the origin?
by a scale factor of 2 from the origin. D(O .Y )
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1) Dilate A QRS if Q(-1,0), R(-1,2), S(-2,1) 2) Dilate A TRK if T(-1,-2), R(1,0), K(0,1)
by a scale factor of 2 from the origin. by a scale factor of 3 from the origin.
A A
REN RN CTTTTT ]
JENENREN Q2,0 ELRIH EECTETErE -l
I ] R(-2.4) [ |11 ¥ L R(3,0)
- s (4. 2) ™ e ™ - K(o,32)
! . | meed —ft ]
el ' | e | / —
e ol 133353 - pizndenls s 1 BEa
= G- i | ! A i |
_ | i — 7 2 Vi ||
O i LSE HERN/AGEEEN
- - | }/‘ 0l IS
| | ._ ) i | | i“r_‘,
Y T




3) Dilate AXYZ if X(-4,0), Y(-4,4), Z(-2,-2) 4) Dilate AIBM if I(3,-6), B(-6,-3), M(0,6)

by a scale factor of ?12- from the origin. by a scale factor of one third from the origin.
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5) Without graphing, what do you think the image points of ADOG would be if you dilated the triangle
using a scale factor of 7 and center of dilation at the origin? D ( 3, -2), O (-7, 12), G (-1, 5).
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6) On the graphs for problems 2 and 4 draw lines connecting the origin, which was our center of Q

dilation, to the preimage points. What do you notice?
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Do the following dilation problems:

7) Dilate AHAT if H(-1,-1), A(1,0), T(-1,2) 8) Dilate AIBM if1(1,-2), B(1,4), M(4,1)
by a scale factor of 2 from the point (1,2) by a scale factor of = from the point (-2,1)
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